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@® 4x+2x=3x+5x @ 5x-3=x(x—4)
® 14+2+3=2x(T-4) @ 3(x-3)=2(x-2)

® 3x+4-2(x-1)+x
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@ x+10=x-1 © 5x+2=0

©® 3(x+1)=3x+3 @ 2(x+3)=2(x+1)

@ 4(x+1)=3x

ONQ) @ © 3 © @ Aa0 G A .0



“3ax+ 1 0] FE5A0] HES 9] 2ke Fololat






5.  10% 9] AgE 200g ol 482 40g o] Yol AgtEo s
7} ==71?

@D 10% @ 15% 3 20% @ 25% 3 30%



Hu
ol

ol
oR
ofie
Xfo

ol

@ a=b°lHa+5=b+5

©a=bolHa-10=10-»
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® -3x-3=0 ® -3x+3=0 ® -x-3=0

@ x-3=0 B x—1=0



@ x-9=18+x

@ x*>-3x

@ 3x-2=x+7

X2 -9

® 4x-2=5-4x

B 5x-17=0
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QAT 2x+1=x+4
79 i hx=2x-6
M 6x-1=4x+7
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D x+3=2x-2 @ x+3=2x+2
® x+2=2x-3 @ 2x-3=x+1

B 2x+1=x-3
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@ (7300 + 120)x = (3400 + 250)x
@ 7300 + 3400 = 2x

® 7300 + 120x = 3400 + 250x

@ 7300 4 120 = 3400 + 250x

3 7300 x 120x = 3400 % 250x






DO x+6=2x-T7T+x
® x2-2(x+1)=1-x

® x(x-5)=10x+x%>+1

@ 4(x+3)=12

@ x—-1=-x+1
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